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RABINDRA BHARATI UNIVERSITY
DIRECTORET OF DISTANCE EDUCATION

RabindraBhavan, EE-9 & 10, SECTOR - Il, SALTLAKE CITY, KOLKATA — 700091

INTERNAL ASSESSMENT
SUBJECT: SANSKRIT

SEMESTER-II
SESSION: 2017-18

COURSE: 2.1
[FULL MARKS -10]

Answer any one of the following: 1x10=10

1. SRR ey ST T |
Or,

o LN . S ~
BT I qRIFRATTHIS AN, |

2. a0 g — % e IHA ? TEEHA JAaETe Y [ |

Or,
Write short notes from the following (any two):
a) Sayana, b) Aurobindo,
c) Dayanandasaraswati, d) Max Muller.
COURSE: 2.2
[FULL MARKS -10]
Answer any one of the following: 1x10=10

1. NIEE TEEicEd 2 TI6E J&0 91 ghd: Gfed di: Tdl: AigIaaqgcd GRRTeadm. |
Or,
ferTerall Hergai=ie, SToHaT: Giegdd T I |

2. HoSHEHUFURE GodhiShiHid A qeqd fH ? A= |
Or,
o o o -qa\ o . haN l
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COURSE: 2.3
[FULL MARKS -10]

Answer any one of the following: 1x10=10

1. Give short notes on (any two) of the following:
a) Grimm’s Law, b) Grassmann’s Law,
c) Articulation of Vowel sounds in OIA.

2. Who did invent T.G.G.? Give in detail the role of T.G.G. in the field of linguistics.
Or,

What are the differences between the Vedic and the Classical Sanskrit in respect
of Morphology, Phonology and Syntax?

COURSE: 2.4
[FULL MARKS -10]

Answer any one of the following: 1x10=10

1. AT HehddTe e |
Or,
Explain (any one) of the following:

a) @SSR, b) Seaee] @R, ¢) JovHauasid: |

o~ [ -
2. VIR HIGRT TWHREA&THIG A |
Or,
N . Ne oS = |
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COURSE: 2.5
[FULL MARKS -10]

Answer any one of the following: 1x10=10

1. Write a note on &= according to Mammata.

Or,
Define and illustrate (any_two) of the following Alamkaras (in Sanskrit
language):
a) TEwE:, b) &%,
C) v, d) emgld:,
e) FAGF |

2. Distinguish between (any two) of the following:

[ a RN N

a) forTraeT — FRINIRR:,  b) 9YH — 394, ¢) G — gt |
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